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Addition two/three numbers up to 10000 #6

9401 + 1320 =

2385 + 9608 =

4467 4 8009 =

3161 + 9231 =

1525 + 5933 4- 6716 =
7294 4 1536 =

9643 + 3291 =

9859 + 7040 4 4986 =
9652 + 1959 =

4389 4+ 5116 + 3214 =
7925 + 3649 =

279 + 5454 4 9138 =
6137 + 6183 =

3036 + 6928 + 9730 =
4019 + 1459 + 9882 =
1252 + 8465 + 6986 =
1407 + 3148 + 4355 =
7989 + 2820 =

5915 4 3072 + 4199 =
4174 + 6726 + 6909 =
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Addition two/three numbers up to 10000 #6 (Solutions)

9401 + 1320 = 10721

2385 + 9608 = 11993

4467 + 8009 = 12476

3161 49231 = 12392

1525 + 5933 +- 6716 = 14174
7294 + 1536 = 8830

9643 + 3291 = 12934

9859 + 7040 + 4986 = 21885
9652 + 1959 = 11611

4389 + 5116 + 3214 = 12719
7925 + 3649 = 11574

279 + 5454 4+ 9138 = 14871
6137 + 6183 = 12320

3036 + 6928 + 9730 = 19694
4019 + 1459 + 9882 = 15360
1252 + 8465 + 6986 = 16703
1407 + 3148 4 4355 = 8910
7989 + 2820 = 10809

5915 4 3072 + 4199 = 13186
4174 + 6726 + 6909 = 17809



